Phyiscs | - Spring 2018 - Quiz

No. Stu. ID Q1 |Q2 |Q3 |Q4 |Q5 |Q6 |Q7 |Q8 |Q9 [Q10 [Total(From 4)
1/92100545|C |B |abs|A [C (B |A J|abs|B |A 2.8
2192109589 |B+ |B+ [B+ [B+ |[B+ |A |A |abs|A |abs 3.5
3193100571 (D |A |abs|abs |abs |abs |abs [abs |abs |abs 0.6
4193110626 |C [C [C |C Jabs|C |B+ |[C |[B+ [C 2.2
5|93110756|B+ |[B (B (B |B+ |[B+ |A |abs|A |[C 3.3
6|94107837|A |A |[B+ [B+ |abs|B |abs|A [abs|A 3.1
7|94108703[(B |abs|abs|B+ |B [B |[B |A [A |A 3.1
8|95107274|B |abs(B [C |B |C |B |B |[abs]|abs 1.9
9195107371 |C |abs |abs [abs |abs |abs |abs |abs |abs |abs 0.2

10|95107722|C |B |A |B+ |B [|abs|abs |abs |abs|abs 1.7
11{95108908|C |C [abs|abs|B [B |A [B |abs|A 2.3
12]95108987|C J|abs|B |abs|B+ [B [A |B |B |A 2.8
13]96011198 |C |C |abs|abs|abs|[C |abs |abs |abs |abs 0.6
14]196100917|D |B |B |C |abs|abs|abs |abs |abs |abs 0.9
15|96101046|A |A |abs |abs |abs |abs |abs |abs |abs |abs 1.0
16]|96102567|A |A |A |abs|B [A [A |A |A |A 4.3
17|96103025|A |B |C |abs |abs |abs |abs |abs |abs |abs 1.0
18|96103166|C |A |abs|B |[B [|abs|abs |abs |abs |abs 1.3
19]/96105191|C |B+ |C |[B (B (B [B |B+ |A |A 3.4
20|96106009|B+ |C [D [|abs|abs|D |abs|abs |abs |abs 0.8
21196107973|D |B+ [abs|C |D |abs |abs |abs |abs |abs 0.8
22196108815|C |abs|C [abs|B |B |abs|B+ |[A [A 2.4
23196108826 |D |abs |abs |[abs|C |abs |abs |abs |abs |[abs 0.3
24196108912 |B |abs |abs |abs |abs |abs |abs |abs |abs |abs 0.3
25|96109063|A |A [A [C [B+ |A |A |A |A |A 4.6
26/96109096[(A |A |A [A B+ [A |[A |A [A |A 5.4
27196109103|C |A [B+ [B+ |[B |B+ |A |A B |A 4.0
28|96109171|A |B+ |C |B [B |abs|A [abs]|abs|abs 2.2
29(96109266|(C |abs|D [abs|C [A |A |A |[B |B 2.6
30(96109306(C |B+ |[D |[abs|B [B+ |B |B+ [B |B 2.7
31|96109522|B |B+ [abs|C |C J|abs|C |abs|abs |abs 1.3
32196109566 (B+ |[B |abs|B+ |abs|B |abs|B |A |abs 2.2
3396110164 |D |abs |abs |[abs |abs |abs |abs |abs |abs |[abs 0.1
34196110367 |D |abs|C [C |C J|abs|C |abs|A [A 1.9
35|96110378|D |C [abs |abs |abs |abs |abs |abs |abs |[abs 0.3
36/96110804(B |A |C [B |B+ [B |A |B+ [B |A 3.7
37196107962 |C |abs|abs|C |D |abs |abs |abs |abs |abs 0.5
38(96110826 |[D |abs|D |abs |abs |abs |abs |abs |abs |abs 0.2
39|93111247 |abs |abs [abs [abs |abs |abs |abs |abs |abs |[abs 0.0
40(96105359|abs|C |abs|B |C |[B [B (B [B |A 2.4
41(92109591|abs|C |C |B+ |B |B+ |A [abs|abs|abs 2.0
42196101443 |abs |D |abs |abs |abs [abs |abs |abs |abs |abs 0.1
43/96100566 [abs [abs|C |A |abs|D |abs |abs |abs |abs 0.8
44196110356 [abs|A |A |A |IB |A |[A [A [B+ |A 4.2
45(96108883 |abs [abs|C |abs|A |A |C [abs|B+ |A 2.3
46|96109052|abs|A [abs|abs|C [A |A |A J|abs|A 2.7
47196109458 |abs|A |C |B |C |B |[B+ [B+ |[A |A 3.3
48|95102916|abs|A [abs|A |abs|B |B |abs|B+ [A 2.5
49196106247 [abs [abs|C |A |C |B |A [A |abs]|A 2.7
50(96108612 |abs |abs |abs |abs [abs |D |abs |abs |abs |abs 0.1
51193110529 |abs |abs [C [abs|C |B |abs|B |[abs|C 1.2
52(96109211 |abs|B |abs|abs|B |abs|abs|abs|A |abs 1.1
53|96108667 |abs |abs [A [abs|C |abs |abs |abs |abs |[abs 0.7
54196109255|abs|B (B [A |A |B |abs|A |B+ |abs 2.8
5591153648 |abs |abs [abs [abs |abs |abs |abs |abs |abs |[abs 0.0
56(95103107 |abs |abs |abs |abs |abs |abs |abs |abs |abs |abs 0.0
57196107135 |abs |B+ [C [abs|abs |abs |abs |abs |abs [abs 0.7
58(96109136 |abs |A |abs |abs |[abs |abs |abs |abs|B |B+ 1.2
5996109482 |abs|B [D [abs|D |abs |abs |abs |abs |abs 0.5
60(95110032 |abs |[abs |abs |abs [abs |[abs |abs |B  |abs |[C 0.5
6196021931 |abs |D [abs |abs |abs |abs |abs |abs |abs |[abs 0.5
62(96108418|abs [abs |D |abs|abs|C |abs |abs |abs |abs 0.3




